[bookmark: _GoBack]Q1. Find the difference between 14,581 + 18,541 and 23,427 + 23,243.
Solution:- 
First of all we will find the sum 
14,581 + 18,541
	TTH
	TH
	H
	T
	O

	1
	1
	1
	
	

	1
	4
	5
	8
	1

	+      1
	8
	5
	4
	1

	3
	3
	1
	2
	2



SUM = 33,122
NOW AGAIN WE WILL FIND THE SUM
23,427 + 23,243
	TTH
	TH
	H
	T
	O

	
	
	
	1
	

	2
	3
	4
	2
	7

	+      2
	3
	2
	4
	3

	4
	6
	6
	7
	0



SUM = 46,670



DIFFERENCE = 46,670 – 33,122
	TTH
	TH
	H
	T
	O

	
	
	
	6
	10

	4
	6
	6
	7
	0

	        -3
	3
	1
	2
	2

	1
	3
	5
	4
	8















Q2. FIND THE SUM OF 32,309 – 23,903 AND 41,724 –31,527.
